M52t 3

1. &l StLhEe| Xt

1) otLidE 2= A7t &2k

[ 5.1 ]

@ stLtEE = #otord o|lf
____OA FA= A”E et

@ o AtHEZS FENE=E70
[ &5:2 ]
- 2 FA= A
2) HO{E{2{0F & Sl AFRAEO| 0]])
© ¥, Oy A, &?EZ2 Helzt
2t SHX| e

- Yol= EAl et (8

%, 5|80 ¥

= H2lz)

® T et AHES0| oLt
[ 55 ]
=0l dst= oLt

@ L=H™Oo| ULCE,
- 22|18 Folct,
- dgez oH ¢

20



O|Ch (Al 3l 2 2}1)

.I

K

ot=

Al
cl

2to
O
- o=, Eoi7F At

@ A A

o7l 22 B0 HXO| BRLo=Z ELIA 3z}

=
- bl

-4

cte oo

=
—

or

oF

ojo
ou

-

o0
®r

[ &5:13-14 ]

- CHA] &OpCL

o
od
Klo
7o
0

1) MES obrlzt

[ &5:16 ]

[ ¥5:17 ]

- sfLidol

[ &5:18 ]

oF

ol
oF
i
)

JoO
XF
<t

<0
K,

CtA g

=
=

- 40| Lt

21



Aol LIEILEE QB ST

fr
]

2.

[ §5:22~24 ]

SOolLt.

- 0| CtA2{of 7}

[ &5:25 ]

StCt

=
o

- M™H0| CtAB{OoF 7}

foH

[ &5:31-32 ]

2) 2o Xt

@ At

[ 26:1~3 ]

4o

&
1
o3

4

ol

[ 215:16 ]

o
4r

- 'S8(Feh2 ‘F4A of7|thets 2ol

- §380| BtAE{oF 7t

SOttt

22



@ 72

[ ¥6:4 ]
- XA oA £ M2 = ULt
- FO| Wt 2AHE YFG|OF $IC
3) LEOIA
ORS
[ ¢6:5~8 ]
- Mot OF
-FE A7 =
- St=2| 40| ULL
2
[ &6:9 ]
- 39| Ej=Qof ZLC}
- FHECE EFS Z2%HK| YesC
- Lz SHLHESl ZYE 7| Ysfjopgt

3. SiLpLO| MAIZE

[ ¥6:11-12

]

_od A
o

B B

@ 2|9

@ oo Z4

©
T
ojo
10

®
ng
oo
10

e gt

o

el (143)

Adts 2=, 14%)

MA5E)

gtof(167%)

of EF(178)

23



® 8382 4173

stLte] 27| - 7=

cc
[ 6:18-19 ]

4

1) Mzo 7|2

@ 438 2Ao|N

- O|AO| MO AYOILE,

od

Au

[ &6:21 ]

4:12, ©3:12)

Qo ClsS
AR (T

ot 3t

20:4), Offefl2~2t 2o of

SH
=)

(

£ H=22%F

L B

@ At

[ 6:23-24 ]

24



